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Sample Paper – 2009
Class – X

Subject –MATHEMATICS

Time: 3 hrs                        Marks: 80

Section A                                        
 ( 7 x 2 = 14 marks )

1.   True/False ?                                                                                                                               a. every whole no is a natural number                                                                                       b. every integer is a rational number                                                                                                           c. every rational number is an integer   

d.   0.131331333133331… is a rational number.

 2.   Solve for x and: y                                        
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   3. Answer true or false 

a.  2x + 3/x is a polynomial   
b. √2x²+ 3x3 + 1 is a second degree polynomial

c.   5xy is a binomial

d.   2x + 3y + 5z is a trinomial

   4. Solve the equation that is quadratic in form: [image: image2.png]


.
   5.  The third term of an A.P. is p and the fourth term is q. Find the 10th term

   6.  A bag contains 5 red balls and some blue balls. If the probability of drawing a blue ball is double that of a red ball , show that  number of blue balls in the bag.= 10              
[image: image4.png]7.    Find the measure of angle 1. Givens: Arc AB = 60o    Arc CD = 100o
[image: image5.emf]Section B

(12x 3=36 marks  )

8.  Draw the graphs of the equation,  x-y +1=0,    3x + 2y-12=0 Calculate the area bounded by these lines and the x-axis.

9.  Simplify [image: image3.png]2y -1 y-3 _ 2y*s
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     I

10.   An aeroplane  traveled a distance of 400 kms  with speed x km/hr while  the speed on the return journey was increased by 40 km/hr. Write down the expression fo  r i. forward journey   ii. Return journey    If the R  journey took half an hour less than the onward journey write the equation of x  and find its value.  
   [image: image6.png]


11.  ABCD is a cyclic quadrilateral,  PQ is a tangent at D. If AC is a diameter ∟CAD= 30º and m∟ACB = 60 º find ∟BAC  ,∟PDA  
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12.a )In what ratio is the line segment joining the points A(4,4) and B(7,7) divided by  point C(–1, –1)?

b).   KM is a straight line of  13 units . If   K   = ( 2, 5 ) and  M =(x,-7) Find the possible values of x

13. In Figure, Prove that AB² + CD² = BD² + AC².

[image: image8.emf]
[image: image9.emf]14. The surface area of a solid metallic sphere is 1256 cm2. It is melted and recast into solid right circular cones of radius 2·5 cm and height 8 cm. Calculate: 
(i) The radius of the solid sphere. 
(ii) The number of cones recast. Take π = 3·14.              15
16.     If tany- cot y = a and cosy-siny= b show that (a²+4)(b²-1)²= 4                                                          
 17.  Compute the missing frequencies ‘f1’ and ‘f2’ in the following data if the mean is  26  and the sum of observations is 52.                                                                     Classes 140-150 150-160 160-170 170-180 180-190 190-200                                                                                                                   Frequency 5           f1               20           f2           6             2 = 52
18.  Three consecutive vertices of a parallelogram ABCD are A(1,2) B(1,0) and C(4,0). Find the fourth vertex D.
19.  If A(4,-8), B(-9,7) and C(18,13) are the vertices of a triangle ABC, find the length of the median through A and coordinates of centroid of the triangle 
SECTION C

( 6 x 5=30 marks  )

20.   [a] The degree measure of an arc of a circle is twice the angle subtended by it at any point of the alternate segment of the circle with respect to the arc - Prove. [image: image10.png]


                                   

    [ b ] Prove that area of an equilateral triangle formed on the side of a square is half the area of an equilateral triangle formed on its diagonal.

21.         [a] Construct a trg ABC with BC= 6 cm ,L ABC=120’, AB=3.5 cm Then draw a circle with BC as dia. Find a point P  on circumference which is equidistant from AB and BC  .Measure L BCP  

[b] . Construct a cyclic quadrilateral ABCD given AB = 8 cm, AC = 10 cm,∟BAC = 30 ºand AD = 6. cm.
                                                                                        22. Water in a canal, 6m wide and 1.5m deep, is flowing with a speed of 10km/hr. Show that  the  area  it  will irrigate in 30 minutes, if 8cm-land water is needed will be 450000  m³

\
   23.   Use the diagram below to answer  A bird flies from the top of a 40-ft. utility pole on a straight course to the top of a post eight feet above the ground.If the angle of depression is 50o, how far did the bird fly to reach the post? Round your answers


24       
                                                                          

25.     Using the data given below, Construct a cumulative frequency table and draw the ogive. From the  ogive determine the median marks.

	Marks
	0 – 5 
	5 – 10
	10 – 15 
	15 – 20 
	20 – 25 
	25 – 30 
	30 – 35 
	35 – 40 

	No of 

Students
	3
	7
	15
	24
	16
	8
	5
	2


You may send your queries  to    aloke60@yahoo.co.in
-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

